2B (Soko Gakuen) F#% 1 (Intermediate 1),/ ABk(Omi)
WORKSHEET - NO.2A £ 1 5813 062605

<EFH (REF/HUE) > BELTAUHNDRERABNEHROETH?

Q.1 What would you do when you receive his/her business card from your Japanese client?

Q.2 What kind of differences can you see between American and Japanese business meetings?

<EERY (pELY) TRAE>

1)

2)

3)

IV. ADB [Z5E]

) kK (3L) ox (hOLL) TY. | ]
2) K (hhL) O 3=—TY, [ ]
3) FR (MH>oI25) Dk (&b) £BTY., | ]
V. A&B

) ToF Fri—& DEHO>TLWET, | ]
2) EBYDAE NALWSLTTFEW, | ]
3) BARGE (D) &®RE (WD) B bMHUET, | |

0.3 What is the main functional difference between “and” & 7 &”?

<HhIHhFTRb : RAR=VDRAF>

1) Skiing: 4) Cycling:
2) Soccer: 5) Snowboarding:
3) Jogging: 6) Ice Hockey:

7) Basketball:

8) Scuba Diving:
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<EEDI—I4> LHEL:

F#% 1 (Intermediate 1),/ ABk(Omi)
062605

SEBOMEYS>: THFE (CIEAD) BRAE (BAth) OTIH. |

<BEHYPYED1> (TWHWMaWaI &)

) TEBAREEFVOHNS FCHELED. | =

2) TECT FUSHERLED. | =
3) TESLT [FUBHELED. | =
4 M (FRI2) 8 HLAWTID, | =
5 M FTETIH. I =
6) ThWolL&kIZ PAFVELLDIN, 1=
7y T, £k (0B) (&L, | =

rCAaldwld. ]

r MH5TI 4, |
r T [FUBHELE, |
r MH5TIH, |
r T, |
r T9 1, |

M3, DAY ELLDR. |
rLonWWLET, |

<BEHEBED2> (LbHEBEDODZEE)

D TWohs NAZELOLTSD, | =
2) TECT FU®HED, | =
3) TESLT [FUHED, | =
4 Man BBHLBW, | =
5 Mans &, 1 =
6) TWoL&IC BalEB5h, | =
7 TC»dH., £tk (H&) THh, | =

NFAsE, |

r Mo, |
r o J

r Mo, |
r o J

r =1, |

S, BAIEB51, ]
SA. Ceodbh. |

<DERBFENI> (TyIR) : THFRBRFAE (BARA) DTIH, ]
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<BbWED  RELDZEE> [35E]

) BlEED/ZAlCBIF/ ZAulFAlL,. [ ]
2) TelEWVE, &S BMLZY, [ ]
3)) WoT<K%h, © WoTohoa2L»L, | ]
4) BEEI, & BoO2hh, [ ]
5 L»dh. o & ES>b/Fh, [ ]

Q.4 What is the crucial difference between formal greetings and casual greeting in Japanese?

BERDWENMTIE, #ARICHWNEDZEZLET, THHS (EMW) =TIE. HFEYUDH
WEDEFLEHA, BFRTE (KIFAD) F. HOEDDNLEETAHYET, ES5VL50H
WEDE, BEERSTADHNWEDIEBEHNNET, #( VR (country-side) **#BL(big cities)

BAEANL TEL545] BHEVDIDNVERHA, TELOH5]1 ODLAHIE &THHE (D
&) WTT, BIRDBVARDHPNET, £EAE. SOLRED TEKDE51 (F T
MBEBS5EHDYTIRI ODVWHATT, THHAA (BLLA) E TEXKDE5] 2K<D
POET, RFE (WD) OHVWEDHLVWULDOARTI D, TEAHLE(F=AREFEDDH

EDEDMVEL LD, #4x Z (VTN & (lovers) *##% T & B 7Z(F (as far as possible)

<HWED:YRZVITFRE>

) A/ B BARDWEMNTIE HEVYHWEDIILERA,

2) A/ B EDVLODHNEDE BERSZTADHNEDIE HAULTT,
3) A/ B BEANE TE2X57E51 Z2X<DPVET,

4 A/ B reL5651 OLWAHIF HEUHE (DL) <BENWTT,

5 A/ B ZWOED TEE5H56]1 13 TEEHLELI ODVWATT,

0.5 Why didn’t the author include X L D 7% 5] in the article? When can you use the expression
then?




